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Il Semester B.Com. Examination, November/December 2017
(CBCS) (Semester Scheme)
(2015-16 and Onwards) (F + R)
COMMERCE
3.4 : Financial Management

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in Engiish or
in Kannada.

SECTION-A
Answer any five sub-questions. Each sub-question carries two marks. . (6x2=10)

1. a) Give the meaning of Finance.
b) Define FinancialManagement.
c) What is time value of money ?
d) Expand EAT, EBIT and PAT.
e) What do you mean by investment decision ?
f) What is dividend decision ?

g) Calculate the future value of a sum of ¥ 1,000 if it is invested at 8% interest
for a period of one year.

SECTION-B
Answerany thfee questions. Each question carries six marks. (3x6=18)
2. Explain the steps in Financial Planning.
3. Explain the need for time value of money.

4, Calculate the future value at the end of five years of the following series of

payments at 10% rate of interest :

% 4,000 at the end of 1Styear

¥ 5,000 at the end of 2" year

¥ 6,000 at the end of 3" year

% 7,000 at the end of 4t year

¥ 8,000 at the end of 5" year

P.T.O.
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5. Calculate operating leverage and financial leverage from the following :
Sales —¥ 1,00,000 at¥ 5 per unit
Variable cost - 1 per unit
Fixed cost -% 1,00,000
Interest expenditure — 20,000.

6. Rajesh and Co. is considering the purchase of a machine.

Two machines A and B each costingI 50,000 are available. Cash inflows are
expected to be as under. Calculate payback period :

Years Machine A Machine B
1 15,000 5,000
2 20,000 15,000
3 25,000 20,000
4 15,000 30,000
5 10,000 20,000
SECTION-C
Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. Explain the factors influencing capital structure.
8. What are the principles of sound financial planning ?

9. Compare two companies in terms of its financial, operating and combined

leverages :

Particulars " Firm ‘A’ Firm ‘B’
Sales ¥ 20,00,000 ¥ 30,00,000
Variable cost 40% of sales 30% of sales
Fixed cost - ¥5,00,000 X 7,00,000
Interest 31,00,000 31,25,000

Interpret the results of the firms.
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10. A firm whose cost of capital is 10% is considering two Projects X and Y, the
details of which are

11.

Investment
Cash inflow :
| year
Il year
Il year
IV year
Vyear
Total

Project ‘X’ inX

1,00,000

20,000
30,000
40,000
50,000
60,000
2,00,000

Project 'Y’ inX

1,00,000

45,000
40,000
30,000
10,000
8,000
1,33,000

Compute the internal rate of return for the two projects separatly. Project X by
20% and 29% and Project Y by 9% and 15%. Use the following discount for

calculating IRR.

Years

’
2
3
4
5

Cash flow of X project are given below :

Year

SWw N =

5

Project X Project Y
20% 29% 9% 15%
0.833 0.775 0917 0870
0.694 0.601 0.842 0.750
0.579 0.466 0.772 0.658
0.483 0.361 0.708 0.572
0.402 0.280 0.650 0.497
Cash flow PV factor at 10%
20,000 0.909
30,000 0.826
60,000 0.751
80,000 0.683
30,000 . 0.621

The salvage value at the end of 51" year is ¥ 40,000. Calculate the Net Present

Value.
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CIRFTRE3R DT YUB-BINER GUBOR. B TIN AT LOBNT. (5%2=10)

1. a) BTN WFFE, BRA.
b) BeaBoRE JWFBESOD), WYETYAR.
C) R RROOD B ROTTEI ?
d) EAT, EBIT®)PATOR0R.
e) DAC3PEN VedF OB/, Qe Bert STFRID0 ?
f) ©ogR08 LaF 03 DOTTERD ?

g) ¥ 1,000 333 8 O LRoDe3 2003 RRF TIORGN DV03RNITS 0T PIRT
BRYTY, FoBOLRREOWD.

TN - W
39N CIRRYTOTTR B BIR 0308, T3 T 8380 o3, (3x6=18)
2. BeovtoRd 03RS0 BB, DZOR.
3. BB ADON BRYT SHJTINTR, OHOR.

4. 833N NTES TTWIOD, TS RIRFS BRSO 3e3RE 10 2B TBSRTT, 20T
SRENY EOTHOID, LT LR, BT FoBOERCD.

% 4,000 SpmO8D BRFS LoBTO,
% 5,000 S0RH0DH BRFE BFTY,

% 6,000 B0303 BRFB WO,
3 7,000 SpgS0d BRES BT,

% 8,000 &BS03 SRS 2033,
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5. B ENIYnPon O30 230 SSers BB BEOTORT BB NI Fomr%R00:
SR02Es ~¥ 1,00,000 B g T 5
BOTOTIED D23 - B P < 1
ﬁ:&d a0r % 1,00,000
& 02 —T 20,000.

6. Toxen® a2 BoBRCID 2.0 Qi:ogaa’a‘gl DRV TONETROSTS. 000 A &
0308 B 8> 0300816 2363 T 50,000. 85D 2IBOY) B2 FNTS QOEFRODNG, &o0ToRE
eﬁd@o:bdl FOBOEEROD.,

- SRened 0303, A ooz B
3 X
1 15,000 5,000
2 20,000 15,000
% 25,000 20,000
4 15,000 30,000
5 10,000 20,000
RNWIN - 2

CIRYTOTTR T8 TInen evgon. B8 =31 TRTOLY, 0B, (3x14=42)

7. WO B3I Peoss WIS ©OBNII) DTOR.

8. z’g:jp BEITORD 03P e 38 N 9

9. T ioaa’a)rf%*dgt LING T30 23053 202 F0030e228 ORBeT NS 300238 2ocdE

R

NTTRL : ﬁoza; D zﬁoz‘s; W

IR0V %20,00,000 % 30,00,000
[Zobd RO, QUDETIE BRooT40%  SRoET30%
i'%d DN ¥ 5,00,000 X 7,00,000
AL~ < 1,00,000 ¥ 1,25,000

#o%ﬁ%* ﬁ@@oﬁﬁfﬁﬁi O,
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10. 20RO 33, O oSrexd X So)Y 33810 T 200 BTN TONERET,
IS DRTT B3 068 BT -

QRTAEO o3nems X odnems ‘Y’
4 3

aR03men 1,00,000 1,00,000
SRR L.YBOR):

| IR 20,000 45,000

Il 3= 30,000 40,000

I SR 40,000 30,000

IV S8 50,000 10,000

V SR | 60,000 8,000

282 2,00,000 1,33,000

ed
A0RR C3PexEne o308 BIFOR TOTRY, TFBTN FoB®HAWD. oIS X
63820 S3) 3¢8 29 Tone odeexs Y 363 9 FB Iee 15. S5 3N D3RO0
2083 LIFRERORD 50308 DTTF OB, FORIZEOD.

odnpemsd X odnems Y
IRETE0 20% 29% %% 15%
1 0.833 0.775 0.917 0.870
2 0.694 0.601 0842  0.750
3 0.579 0.466 0.772 0.658
4 0.483 0.361 0.708 0572

5 0.402 0.280 0.650 0.497
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1. odrexd X 8 3nmd TOY) B3 B8 BRBOINT -

SRened SRTOY 2. D T Bewm 10 Bod
§ 3
1 20,000 0.909
2 30,000 0.826
3 60,000 0.751
4 80,000 0.683
5 30,000 0.621

0T ms—o%dg dgfjd da’ae% T 40,0003, R}aéf;' 3’3:’33 a“sz‘ae%m:‘;{ BOTILER0D.




